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Name of Examination/qtert 6T TH: 

JE/Elect/TRD against 25 % IAM Quota, GP - Rs. 420o (Level - 6 as per 7 PC) 
in Elect/TRD deptt under Sr. DEE/TRD/sDAH 
Full marks/ Rf# 100 

Instructions/f: 

21 

) Each question carnes one mars There s negative mark tor wrong answer 1/3 marks will be dducted for 

Do not write anything on answer sheet disclosing vour dentity Otherwise cand1dature will be cancelied 

3) Candidates have to attempt 100 out of 110 Questions no from 101 to 110 are rajbhasa questions which are 

Current density of copper (continuous) is 
(a) 4 anmps sq. nmm (b) 7 amps /sq. mm 
(c) 5 amps /sq. mm (d) 2 amps /sq. mm 

4) Any type of cutting Ovevig a af �1d1ST,? 
ng or alteraton will not be accepted. Zero marks will be given for having 

correcton and ovewriting answer 

Purpose of Lamination of transformer core 
(a) Reduce copper loss 

5) Candidates may use either blue or black pen 4etts| hle y- ol H h Hhl 

6 All questions are multiple choice. uy dgtd 

(b) Reduce eddy current loss 
(c) Increase MVA capacity of transsformer 
(d) Increase current capacity of transsformer 

Transformer Oil is dangerous since it is 
a. Inflammable b) Toxic 

c) Hygroscopic d) Unnatural. 

Durat1on/ 41 2hr 

Oil temperature trip facility is given since at higher 
temperature as 
a) Transformer oil becomes thick and immovable. 
b). Insulating properties of insulations impair sharply. 
c). Buchholtz relay trips. 

a) Less than 1 

b) More than 2 

Selection for the Post of 

d). It becomes difficult to operate tap changer due thicken 
transformer oil. 

ets 

Transformer Winding is said in good health ,if the value of 
Polarization Index is 

d) More than 1, less than 2. 

c) Value of Polarization Index does not indicate winding 

condition. 

b) Size of each core is 70 sq mm 

What you understand about size ofa cable ifit is said 70 Sa 

mm two core cable) 
Cross sectional area of the cable is 70 sq mm. 

c) Size of one core is 35 sq mm 

Date/l-Ib 05 05 2022 

d) Cable is to be used for CLS purposes. 

()4 UHftun/f frft () 7 
TTHftu/f faf (f) 5 mHftuA 

(f) zierÉT THs THAT TZ0 

f) asUTfTE 

f) 2 fr 

) 1 fr, 2 H 
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Cable size of discharge -rod used in 25KV OIIE is -
Multi-core 40 sq. mm b) Single Core 40 sq. mm 

c) Muli-core 20 sq. mm d) Single C'ore 20 sq. nnm 

Hand tool used to put the lug on cable corce tightly is -
a).Torque Rinch b) Ring Spanner c) Crimping tool d) LN 
key 

Tan-8 test indicates the 

(a) Quality of the insulating material. 
(b) Quality of the Core. 
(c) Quality of the Oil. 
(d) None of the above 
During thermal imaging by means of Thermovision camera 
if the variation of temperature compare with adjacent/ncarby 
similar components found 100 C- 200 C the location shall 
be attend within -
a) 24 hours 
b) 5 days 
c) 10 days 
d) Normal 

What will be the impedence of 10 KM double line OHE 
a) 41270 ohm 
b) 4.1 270 ohm 
c) 0.24 Z 70 ohm 
d) 2.4 L 70 ohm 

As per RDSO0's guideline,the LA should not be permitted 
and removed from service at the earliest if during the THRC 
measurement the value of resistive leakage current is found -
a) 350-500 uA 

b) Beyond 500 4A 
c) Beyond 1000 uA 
d) Beyond 1000 mA 

Role of compaction during foundation is 
a) Improves packing 
b) Increases strength of foundation 
c) Provides the necessary flat base 
d) None of the above 

Minimum earth resistance for 25 kV TSS should not be 
more than 
(a) S ohm (b) 2 ohm (c) I ohm (d) 0.5 ohm 

PI test of Traction Transformer shall be carried out by 
means of following instruments 
a) 2.5 kV insulation tester. 
b) 2.5 kV motorized insulation tester. 

25KV OHE T4 fG-0 m 

) 4iT 40 qí faft 
) far T 40 T ff 
zf) -.7 20 Tf farft 
) frrr r 20 TÍ frft 

f) fafry Z)LN t 

(f) f TueHTI 
() 3TÀÉt 

100 C-200 C ftat rT T 

) 24 2 

f) 10 fa 
t) HTHT 
10 KM 3qm IST OHE T YftaTYT T 

)41270 36H 
t) 4.1 2 70 ilgH 
ft 0.24 2 70 T 
) 2.4 L 70 3tg4 

) 350-500 T 
f) 500 LA,ÀT 
ft 1000 HA. 
) 1000 mA.à 

) 2.5 ft 39 TEI 
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23 

l6 

c) 5 K\ insulaton tester 
d) $ k\ motorized insulation teste. 

The prUspectisC maimum fult eurent at I us for a 

216 0 \|LA (ON AtractoM transtomer (o 

mpedance) is 6 41 hat shall be the pospective Lulr 

W hat is the purpOse of provid1ng gravel in TSS 

a) Lower the Lightening voltage 
b) Lower the step potential 
c) To provide base for equipnent erection 
d) ALL of the above 

Differential protection works against which type of fault? 
a. Internal faults 
c) Over current 

Excessive Voltage due to surge is by-passed by lightening 
arrestor into 

(a) Atmosphere in the form of electromagnetic energy 
(b) Atmosphere in the form of electrostatic energy 

(c) Earth 
(d) All of the above. 

Traditionally in Indian Railway the ratio of inductor 
reactance to the capacitor reactance at network frequency of 
a capacitor bank is 

a) 11% 
b) 18% 
c) 15%. 
d) 13% 

In AC traction, distance between two OHE's conductor in 

insulated overlap is kept 

(a) 500 mm. 
(c) 300 mm. 

a) 416.63 Amp 

The rated current of secondary winding of a 25KVA 

Auxiliary transformer is 

b) 163.63 Amp 

b) Over voltage 
d) Low oil level. 

c) 104.17 Amp 

d) 41.66 Amp 

(b) 380 mm. 
(d) 200 mm. 

For parrellel operation of transformer what are the most 
important factors to be kept in mind 
a) Voltage and current 
b) Voltage, Frequency and Phase angle 
c) Load, voltage & current 
d) Current, Phase angle & frequency 

The rating of the Current transformer provided on the IIV 
side of a Traction substation for protection purpose is -
A) 1500 -750/5 Amp 
B) 400 - 200/5 Amp 

ath) 5 tt TTEI 
)5 ft it faa 

216/30 run ( HITI-E) 
Z1It (125% uft) fr 25 

64 t:T 21.6/30 MVA (ONAF: 

T) 6.4 
ft) 96 T 
f) 12 8 T 
t) 19.2 

() frgT qafT 3fArHSTI 

(f) quft 

) 11% 
f) 18% 

t) 15%1 
) 13% 

() S00 fft 
(f) 300 faft 

) 416.63 eftur 

Tferl 

T 

) 163.63 TET 
th) 104.17 ettt 
) 41.66 UrffT 

(f) 380 fAft 
(f) 200 fft 

Current if two L6 0 \I\ AODction trmsformer 
put in parallel. 
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C) 200- 100 1 |Amp 
D)7500 |10 V 

Power blck is granted to the OH supervsers for heavy 

maintenance work by 

(a) Secton cotroller in consultaton swith the TPC 

(61 TPC in consultation vith the section controller 

() Sotn controller with the permission of TPC 

(d) TPC wth the permission of section controller 

During Pl test of Traction Transformer insulation resistance 

kween H\-E is to be measured for 

a) 6 sec 
b) 10 sec 

c) 60 sec 
d) 600 sec 

Maximum wind pressure is considered to design OHE 

structures for Red zone 

(a) 178 kgf /sq. m. (b) 160 kgf /sq. m. 

(c) 150 kgf/sq. m. (d) 112 kgf /sq. m. 

cubicle has been set at 
a) 110 +/-3 V 
b) 100--3 V 
c) 90+/-3 V 

d) 85 -/- 3V 

a) 0.25 mg KOHgm or less 

Capacitor Tripping Device (CTD) in the Circuit Breaker fiz K Hfardazn fef 

b) 0.3 mg KOHgm or less 
c) 0.5 mg KOH/gm or less 
d) 0.75 mg KOH/gm or less 

What is meant from Earth-Screen, in context of a TSS? 

a) Under Ground earth-grid. 
b) Earthed fencing around TSS. 
c) A caution -board. 
d) Farth wire hanging on TSS gantry. 

Advantage of Microprocessor relay over 
Electroomechanical relay 

a) Slower in operation 

The maximum permissible neutralisation value in mg9Z1T'EfT ÍT t fT mg KOH'g 

KOH/g for a Traction Transformer Oil shall be 

b) Much better adjustable R-X diagram 
c) Directional feature 
d) None of the above 

) 1500- 750:5 Eft 

) 400 2005 trrfqr 

The normal desirable length of zone, where pantoraph 

contacts both contact wires in overlap will be 

itt) 200- 100/1- 1 ftr 

) 27500/110 ft 

(a) I m (b) 4.5 m (c) 6 m to 9 m (d) 18 m 

(ft) rfrft ft ufa orrT 

frftft 

U)6 # 

f) 60 
) 600 g 

() 178 fruT/TI trHI 
(d) 160 fuT/ ti rHI 
(f) 150 frT/ THI 
(T) 112 fuT/I THI 

frarg (CTD) Àz ftr Tà 

) 110 +/- 3 ft 
f) 100 +/- 3 t 
H) 90 +- 3 t 
31) 85 +/-3 ft 

f) 0.5 ffuTH u/TTH TT 3HT F4 

a) 3fsT T3S T-fuEI 

) TH ftT 

aft) fzerr fauUT 

()| frz (f) 4.5 ftzr (f) 6 ftzr 9 

frzr (t) 18 frer 
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33 The minimum pernmissible insulation resistance beiween 
upper terminal and lower ternnal of a Aind vacuum circt 
breaker is 
a 

b) 5000 \MO 

c) 500 MQ 

d) 50 MS? 

The standard setting of Current and tume setting of detinite 

time ov cr curent relav on tranlomer I\ sde lot stae -1 

OCR is 
a) l10°of Full load for S minutes 
b)100o of FullLoad for 6 minutes 

c)120°% of Full Load for S nninutes 
d) 120% of Full Load for 6 ninutes 

W ind load on conductor is calculated by 
(a) Projected area of conductorx wind pressure 
(b) 32(Projected arca of conductor x wind pressure) 
(c) 23 (Projected area of conductor x wind pressure) 
(d) 1/3( Projected area of conductor x wind pressure) 

41 

Full form of IRFC 
(a) Indian Railway Finance Committee (b) Indian Railway 
Finance Council 
(c) Indian Railway Finance Corporation (d) Indian Railway 
Foreign Committee 

a) 469 mm 
b) 117 mm 
c) 234 mm 
d) None of the above. 

The blow-off of the OHE can't be depended on -

a) Bending moment 
b) Wind pressure 

The Versine at a location on a Z curved track where the span rE 2 TH1aGr T vG PT TT THTET 
on either side are 40.5 meter will be -

c) Dia. And tension on conductors 
d) Span length 

What will be the sag (s) in the conductor? Where, LF span 
length, T= tension in the 
conductor & w - per meter weight of the conductor 
(a) s = wL2 /T (b) s = wL /8T 
(c) s = wL2 /8T (d) s TL2 /8 w 

Conductivity of cadmium copper in terms of equivalent 
Copper will be 
(a) 80 % (b) 70% 
(c) 45 % (d) 30 % 

The measurement of a stay tube of a cantilever assembly 
provided in a tangent track with zero catenary stagger with 

1400 mm encumbrance and implantation of2.80 meter will 

be -
a)l.76 m 

b) 1.86 m 

) 10000 ruS? 

t) 5000 HS) 

f) 500 rHS) 
S) 50 uS? 

c) 1.96 m 

)5 fz 
f) 6 fe 
f) 5 f 
31) 6 fuZ 

fAT TÍ rr 1 110% 
fT Tf r 110% 

qu TT T 120% 
fAT Tuf r T 120% 

qrfta ) 
(H) 2/3 (43Tx T44 241q I 

(t) 1/3 (52Tx T ZarT T 

() Tf tàfa afafa (f) TdtT 

) 469 fAft 
f) 117 ft 
f) 234 fAft 

) zAT T ZATA 

) raf dar 

EI farfarrT T Zft? at, L 

() 80% 
(f) 45% 

() TH= garu 2/ 

() 4=Jorqyt/8t 
(T) H = y 2/8t 

() H= trua 2/8 gery 

(f) 70% 
(s) 30% 

m) 1.76 qt ftr 
f) 1.86 T 42T 
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50 

d) 2.06 m 

Minimum distance of cdee of (OHE toundation from centre 
of track on a tangent track shall be 
a) 2500 mm 

b) 2575 mm 
c) 2650 mm 
d) 272$ mm 

|Length of radius of track is calculated by the fomula. at the 
center of curve.W here Theta 
Angle, R-Radius 

(a) 1890 m Theta (b) ISI0 m 
(c) 1750 m Theta (d) |70 l m 

Standard Encunmbrance for the central mast of a 4 span 

insulated overlap shall be -

a)l.400.90 m 
b) 1.400.75 m 

c) 1.40 1.40 m 

d) None of the above 

Push up of OHE is depends upon 
(a) Span length (b) Speed of the train 
(c) Weight of the OHE (d) All of the above 

The ratio of cement, sand and aggregate in MI5 grade 
foundation is -
a) 1:2:4 
b) 1:3:6 
c) 1:4:8 
d) 1:5:10 

The maximum standard span that can be employed in a3 

curve if the Versine is to be limited to 36 cm will be 

a) 49.5 m 
b) 45 m 
c) 40.5 m 
d) 36 m 

PTFE stands for 
(a) Plastic Tetra Floro Ethane 

(b) Poly Thermo Finials Ethane 

(c) Poly Tetra Floro Ethane 
(d) Poly Tetra Floro Ethylene 

Theta 
Theta 

The soil resistivity depends upon the 

(a) Grain size of the soil (b) Chemical composition of the 
soil 
(c) Moisture contents (d) All of the above 

The length of the standard A dropper for 54 m span in 

regulated OHE having equal encumbrance of1400 mm at 

supports -
a) 1303 mm 
b) 1385 mm 
c) 1296 mm 

d) 1396 mm 

The value of Y in 3-Pulley type (3:1 Ratio) of ATD for a 

tension length of 1200 m at 30C temperature is -

a) 2435 mm 
b) 2453 mm 

afr) 1 96 TÍ fzT 

)2 06 

) 2500 fuft 
) 2575 fuft 
aft) 2650 farft 
) 2725 frtt 

V, R- fT 

() 1890 frr /fT (f) 1810 fT 

(f) 1750 ftzr /fI () 1701 frzrl 

HpT 

) 1.40 /0.90 
) 1.40/0.75 T f 

f) 1.40/1.40 f ftr 

OHE T qr 
() rafy 

T 1:2:4 

M15 1397 fr4z, t tt 

) 1:3:6 
f) 1:4:8 
) 1:5:10 

) 49.5 qf fzr 
f) 45 fr 
f) 40.5 qf fer 
S) 36 -flet 
PTFE T 4dc4 

() faft ÌT TATT (f) fat ft 

fT HAT2 
arÉ (f) f Tf 

(f) aft THf () 3àH TÁt 

) 1303 ff 

fe fafafar raò HIE TT 1400 

) 1385 ffr 
ft) 1296 fAfr 
) 1396 fAft 
300 ut f4T4 AYHTH q 1200 tzr 
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58 

$9 

c) 2543 mm 
d) 2S34 mm 

(a) is grometer (b) iy drometer 

W hich ipe of turn out is most suitable for high speed OHE 
(a) Knuchle type (b) Cross type 
(C) Over lap type (d) All of the above 

s Uscd for ncasurenment of SPG of electrolvte 
(c) Both (d) None 

An obligatory structure of a turnout is located at TS of 450 
mm. Which of the following stagger of turnout OHE and 
Main line OHE can be given for smooth running of the 
pantograph if the Tower wagon is being kept at turnout Line 

A) T/O - S0, M/L + 200 mm and Separation betwcen two 
Contact Wire - 200 mm 
B) T/O - 100. M/L+ I50 mm and Separation between two 

Contact Wire- 200 mm 
C) TIO - 150, ML + 50 mnm and Senaration between two 

Contact Wire - 200 mm 

D) BothA and B. 

Code of practice for earthing is 
(a) IS:3043-1987 (b) IS:3001-1987 
(b) IS:3007-1987 (d) IS: 3045- 1987 

b) 

The standard value of insulation resistance of a healthy 

Lightning Arrestor provided in HV side of an Traction 

Substation is 

a) > I Gs2. 
b) > 10 GO. 
c) > 100 GA. 
d) >0.5 GQ. 

OTI indicates? 

is 

a) Average temperature of transformer oil. 

) Maximum temperature of transformer oil. 

c) Minimum Temperature of Transformer oil 
d) Maximum permissible temperature of transformer oil 

During every POH the bearing of type (3:1 Ratio) of ATD 

shall be replaced with a new bearing of 
a) SKF 6319 C3 or NBC 63192 RSI 
b) NBC 6305 LLU or SKF 6305 2 RSI 
c) SKF 6012 or NBC 6012 
d) SKF 6307 C3 or NBC 6307 2 RSI 

Working principle of valve or thyrite type lightning arrester 

) 2435 fift 

y 2453 frft 
ft) 2543 fift 
) 2534 fft 

() arftzr (t) TTf (ufr) ér 

() THT 

sfaT jrI 450 fftua q7 

)T/T- 50, TH/TG + 200 fft stT T 

i6 aTT Try - 200 frft 
) tT/aT- 100, TH/T + 15O fifr r 

f) ttt- 150, TH/rg + 50 fft str aT 

() T6UH: 3043-1987 

(T 

() TSuH: 3001-1987 
(f) rÉuH: 3007-1987 
() rTTH: 3045- 1987 

1 fi2I 
10 ft21 () 

f) 100 fte 
t) >0.5 f21 

SKF 6319 C3 T NBC 6319 2 RS1 

6305 2 TCUT1 
#) rrTE 6012 T t 6012 

) SKF 6307 C3 T NBC 6307 2 RS1 
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63 

64 

63 

66 

(a)(-) ve resistartce coetliciet 
(b)(-) e resistance coefficient 
(c) Ohm's law 
(d) None of the aboe 

During current collecton test b OURGtthe ntensty 
of flashcs at a particular koNalon s found meore than 1 00 
Mega pixel the locatton shall be 
1) Atended withn a dav 
B)Attended within a wech. 
C) Atended within a fortnight 
D) Atended within a month 

Al a particular location f the values of vertical load is 2470 
kg and thc Bending Moment is 5900 kg then FBM code will 
he 

A) $93 

B) 3$9 
C) 259 
D) $9 

Minimum distance of OHE structure in advance of a signal 
(a) 10 m (b) 20 m (c) 30 m (d) S0 m 

For election of AT which tvpe of standard mast is require? 

A) B-150 
B) K-150 

C)T-150 
D) All of the above. 

Horizontal clearance between two runners of ac section 
insulator is 

(a) 500 mm (b) 460 mm 
(c) 320 mm (d) 200 mm 

Side gravity foundation is used where 
(a) Soil bearing pressure in more than 1 1000 kgf/ m2 and 
shoulder width is not sufficient 
(b) Soil bearing pressure is less than 11000kgf m2 and 
shoulder width is not sufficient 
(c) Soil bearing pressure is less than I l000kgf n2 and 
shoulder width is sufficient 
(d) All of above. 

Opposite to the TSS/FP the traction rail shall be provided 
with 
A) Rail bonds for a distance of 1000 m on either sides and 
Cross Bonded at distance of 300, 500, 700 and I000 m. 
B) Rail bonds for a distance of 2000 m on either sides and 
Cross Bonded at distance of 250, 500, 750 and 1000 m. 
C) Rail bonds for a distance of 1000 m on either sides and Cross Bonded at distance of 250, 500, 750 and 1000 m. 
D) Rail bonds for a distance of 2000 m on either sides and Cross Bonded at distance of 300, 500, 700 and 1000 m 

()) t vfaty "T 

faat 1 00 T ftea sfor ft 

HT 2470 fuTr af Hz 5900 
fauT FBM #S T 

) 593 
) 359 
f) 259 
) 592 

() 10 fzr (fh 20 fter (fh) 30 fte 
() so ftza 

)f-150 
) -150 
f) -150 

() 500 fft (f) 46o feft 
(f) 320 fft () 200 fAft 

() 11000 fuT/ 2 af 3T Tà 

(f) fugt I A1T 11000 f+T/H 2 

(f) fat ZATA 11000 fuT / T4 2 # 

() 34th TfI 

0E BT 300, 500, 700 tT 1000 tet 

) at aE 2000 ftr ft gtf 
t� aig 3tT 250, 500, 750 stt 1000 

f) r rE 1000 ftr ztfT 
ta ate st 250, 500, 750 3tr 1000 

) art E 2000 frrftft fU 
t4 a0s t 300, 500, 700 3iT 1000 
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68 

69 

72 

77 

74 

The distance between the centre I1ne of the ncarest track & 
supporting structure (i.e. crossing 
span) should not be less than in over linc cases 
(a) Height of the supporting structure 
(b) Height of the supporting strueure (6 meters 

(c) Height of the supporting structure 
(d) Height of the suppoting structure 10 mcters 

In Levci Crossing Gale all thc Iraction rals shall be 
provided with 
A)Choss Bond at two locations which shall be within fise 

meters from cither of the transverse edge of the levcl 

crossin B)Cross Bond at onls one location which shall be within 

five meters fromn either of the transverse cdge of the level 

crossing. 

meters 

C)Cross Bond at two locations which shall be within ten 

meters from either of the transverse edge of the level 

eOSSing. 
D) Cross Bond at only one location which shall be within 
ten meters from either of the transverse cdge of the level 

crossing. 

In one tension length of OHE, maximum splices can be 

provided 
(a) 20 (b) 15 (c) 10 (d) 5 

Foot patrolling is carried out by the technician of the 

suburban sections once in 

(a) One week (b) Two week (c) Three week (d) Four week 

For an Auxiliary Tranformer station the earth electrode shall 

be connected to the mast on which the Auxiliary 
Transformer is mounted by means of 

A) One distinct connection made with 40 mm X6 mm MS 

flat 
B) Two separate and distinct connections made with 40 mm 

X6 mm MS flat. 
C) One distinct connection made with 50 mm X 6 mm MS 

flat. 
D) Two separate and distinct connections made with 50 mm 

X6 mm MS flat. 

Tension in the conductors is measured by 

(a) Dynamorneter (b) Union screw (c) Trifor (d) All of the 

above 

To deduce average PF of a TSS over a month, what items of 

eter reading of that TSS for the month shall be used? 
a. KVAH, KVARH b) KVAH, 

c) KVA. KVAR d) KVA, KW. 

Test is done to test Electrical Strength of 

transformer oil. 
a). IR b) DGA c) BDV d) PPM 

() TE IH L+ 10 

ftar TI 

ftar TI 

() 20 (f) 15 (f) 10 () 5 

() 
() 

HHTZ () ar THIZ (f) fr HATE 

HTZ 

) 40 frft X6 fAft HTH AT 

f) 40 fAfT X6 fT HUH Ftz HT 

f) 50 fft x 6 fAft VHH tzÌ HTT 

) 50 fft X6 fift HUH tz ATT 

() rAfter () yf 

) TT ) fu f) tt 
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75 

83 

76 

77 

78 

79 

80 

84 

85 

All electrical crossing between 650 volt &ITkV for category 'C shall have to be by means of 
(a) Underground cable (b) Overhead conductors 
(c) Either A' or B'd) None of the above 

From any live part of the OHE, trec branches should not be 
nearer than 
(a) 0.5 m (b) |m ()2 m (d) 4 m 

As per ACTM, minimum separation between two carth pit 
in... wice the length of Earth clectrode). 

(b) 4M (c) SM (d) 6M (a) 2M 
. 

Which equipment is used in TSS to improve Power factor 
(a) LA (b) Capacitor Bank (c) Inductor 
(d) Resistor. 

Wind energy is which type of energy 
(a) Conventional 

(b) Non conventional 
(c) Both (a) and (b) 
(d) Non of the above 

Out of the following relations , what would be incorrect for 
a transformer where N indicates 

number of turns, V voltage and I current. 

N, 

d) All of the above 
SPG of distilled water is ? 
a) 1.000 b) 1.1 80 c) 1.220 d) 2.2 

The permissible maximum height of ODC 
(a) 4.62 m (b) 4.52 m (c) 4.72 m (d) 4.42 m 

How much tensile load (70%) should be given for one 

minutes for testing of stay tube or bracket tube insulator 
before installation 

(a) 5220 kgf 
(c) 3240 kgf 

As per formula ,V-0.235 [V (Rd)]. super elevation is given 
on IR to the consideration of maximum speed 
(a) 100 KMPH 
(c) 64 KMPH 

(b) 4900 kgf 
(d) 3580 kgf 

(d) >500 mm 

(b) 75 KMPH 
(d) 54 KMPH 

When 25KV isolator is in opened condition, what should be 
the clearance between its fixed and moving contact? 
(a) >100 mm (b> 200 mm (c) >300 mm 

uft ft f 650 Tz st ||f 

() tA 

()0.5 fer (f)) | frzr (f) 2 fzr) 
4 sftar 

() 2 T4 () 4 TH () 5 TH (T) 6 

() Tt 
(ef) rer () vfaf1 

() Tuftt 

(y irrRI 

(f) rt () sr () 

A 

D) 3T TA 

AT4T T SPG aaT? 
T) 1.000 f) 1.180 f) 1.220 ) 2.2 

(T) 4.62 fre 
(f) 4.72 ftr 

(f) 4.52 ftrer 
(f) 4.42 fter 

() 5220 fhur () 4900 fuT 
(f) 3240 fT () 3580 fkuT 

qatHTT, f = 0.235 [N (3TTST). 

() 100 fft ufa T (f) 75 fft yfa 

(f) 64 fft yfa z () 54 fAft yfa 

()> 100 fft ( 200 fAft (f)> 300 
fft (> 500 fruft 
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9 

94 

95 

9 

96 

97 

Battery rating for a SSP is 
(a) 50 (b) 40 (c) 200 (d) 300 

Electrode gap of BDV tester is -. 
(a) 1.5 (b) 2.5 (c) 3.5 (d) 4.5 

Droppers are used for 

D.0. Fuse rating tor 10KVA ATis.. 

(a)l Amp 

(a) Leveling the contact wire (b) To maintain stagger 
(c) Reduced the sag in catenary wire (d) Nonc of the above 

Maximum permissible relative gradicnt of contact wire in 

two adjacent span shall not be greater than on main lines 

(a) 1.5 mm /m. (b) 2 mm /m. (c) 3 mm /m. (d) 4 mm /m. 

At level crossing gate, maximum height of rail height gauge 
from the road surface is 

(a) 4.38 m (b) 4.78 m (c) 4.80 m (d) 4.45 m 

(b) 2 Amp (c) 3 Amp (d) 10 Amp 

What is the Phase voltage of Transformer primary side 

(a) 25 KV (b) 132 KV (c) 76 KV (d) 120 KV 

What is the most severe eflect of Harmonic current back 

feed by Rolling stock Cee 
(a) Will simply back fçd to SEB: 
(b) Will Go the carth by transformer 

(c) Will lead to temperature rise of OHE 

(d) No serious effect 

case o 

1H 

It is observed that at the extreme end of power supply 

*-*.||m. 

Voltage of OHE is more than the voltage at Feeding post in 

of less no. of trains, What is the reson behind this 

(a) Due to less current drawn by trains 

(c) Inductance of OHE 

B supply 

(d) Resistance of OHE 

(b) Capacitive effect of OHE with adject lines and ground 

(b)40.5 
At overlap anchor span should not be less than 

(c) 54 (a) 36 

(a) 500 mm 
(c) 2.0 m 

Pre sag in contact wire is given in regulated OHE due to 

(a) Pantograph approaching mid span helps to make contact 

wire horizontal 

(d) 67 

(b) Improved current collection at higher speed 

(c) Avoid hogging at low temperature 

(d) All of the above 

Minimum working clearance for 25 kV AC is 

(b) 1.0 m 
(d) 3.0 m 

-AH}1 
(T) S0 

fft 

(d) 40 (t) 200 

() LS (d) 25 (ft) 35 y 4.5 

(rft) 2ft arr forfart TH fTT 

....... 
()I TE () 2 ET (zft) 3 ET () 10 

() 1.5 f4t / THI (f) 2 faft/ THI (f) 

3 frft/THI () 4 faft/I 

()4.38 ftzr (f) 4.78 frzr (f) 4.80 

fter () 4.45 frer 

() 25 ft () 132ft (f) 76fr 
(s) 120 t 

(t) 

() 300 

(f) zirat4T TT Jft TITT 

(f) siruZ fUgra 
yfany 

() 36 (f) 40.5 (f) 54 (f) 67 

fafrfra Auf0fRT TATà? 

() 3Tà Tft 

() 500 faft (f) 1.0 4 
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98 

09 

10 

Silica Gel turns 

(a) Pink 

105 

107 

Fabricated mast is suitable to resist 

100 Competency certificate issued to the tower wagon driver by 

(a) SSE OHE (b) AEE/TRD (c) DEE/TRD (d) Sr. 
DEE TRD 

108 

(a) Both bending movement & (wisting movement. 

109 

(b) Bending movement only 

(c) Twisting movenent onty 

102 In which state. Sections 6 & 7 of Official Languages Act 

1963 do not apply ? 

(d) Neither bending movement nor twisting movement. 

103 How many members are there in Committee of Parliament 

on Official Language? 

When is Hindi Day' celebrated every year ? 

(a) 14 feb (b) 14 may (c) 14 aug (d) 14 sep 

-- (colour) absortbng mosture. 

(b) Blue (c) Red (d) black 

(a)goa (b)bihar (c) J&K (d) west bengal 

a) 20 

--* 

c) 40 

104 Official language of Union of India is defined in Article 

.of Constitution? 
a) Article 120 
c) Article 358 

106 How many Hindi courses are prescribed for Central Govt. 

employees 

Amount of Award (Rs)for passing Pragya 
Examinations(70%). 
(a) 800 (b) 1600 (c)1800 (d)2400 

a)2 b)3 c4 

a) Prime minister 
minister 

a) 4 

b) 30 
d) 25 

c) 3 

Who is the Chairman of Central Hindi Committee 
b)Chief minister c)Railway 

b) Article 343 

d) None 

a) 1950 
c) 1971 

Linguistic region as per Official Language Rule 1976 are 
classificd into No of regions. 

b) 3 
d) None 

be trained ? 

d)s 

d) Home minister 

In which year Hindi become official language of Union of 

India? 
b) 1965 
d) 1985 

110 From which course a Category D' cmployee is required to 

a)Prabodh b)Praveen c) Pragya. d) all of these 

-THE ENDAa 

(ft) 20 ftr () 30 r 

() rd () tI 

(ft) HTH7 

() TrqaS/ yas (d) yt/Art 

)14 5att fh 14 HÉ f) 4 3TT ) 

14 fadd 
TTHTT stfq 1963 ft TT 6 3TT 7 

) 20 
f) 40 

y 
f) qz 358 

800 

) 2400 

) 2 

TAT TETT (70%) 3fuf àf 

ht..... 

)4 
ft) 3 

120 

) 1950 

TTUT 

f) 1971 

f) 30 
) 25 

) TaTY 

f) 343 

f) 1600 f) 18000 

f) 4 

f) 3 

t) 1965 

t) 1985 

f4 1976 3HT TTS 
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